

N° 665

16/11/2021

$$x(x - 2\sqrt{2}) = (x - \sqrt{2})(x + 2\sqrt{2})$$

$$\cancel{x^2} - 2\sqrt{2}x = \cancel{x^2} + 2\sqrt{2}x - \sqrt{2}x - 4$$

$$-2\sqrt{2}x - 2\sqrt{2}x + \sqrt{2}x = -4$$

$$-4\sqrt{2}x + \sqrt{2}x = -4$$

$$-3\sqrt{2}x = -4$$

$$x = \frac{-4}{-3\sqrt{2}} \cdot \frac{\sqrt{2}}{\sqrt{2}} = \frac{4\sqrt{2}}{3\sqrt{2}} = \frac{2\sqrt{2}}{3}$$

670

$$\frac{x}{\sqrt{5} + 1} + \frac{1}{\sqrt{5} - 1} = x(\sqrt{5} + 1)$$

si può risolvere
velocemente
come $4 \cdot (\sqrt{5} + 1)$

$$\frac{x(\sqrt{5} - 1) + \sqrt{5} + 1}{(\sqrt{5} + 1)(\sqrt{5} - 1)} = \frac{x(\sqrt{5} + 1)^2(\sqrt{5} - 1)}{(\sqrt{5} + 1)(\sqrt{5} - 1)}$$

$5 - 1 = 4$

$$\sqrt{5}x - x + \sqrt{5} + 1 = x(\overbrace{5+1}^6 + 2\sqrt{5})(\sqrt{5} - 1)$$

$$\sqrt{5}x - x + \sqrt{5} + 1 = x(6\sqrt{5} - 6 + 10 - 2\sqrt{5})$$

$$\sqrt{5}x - x + \sqrt{5} + 1 = x(4\sqrt{5} + 4)$$

$$\sqrt{5}x - x + \sqrt{5} + 1 = 4\sqrt{5}x + 4x$$

$$\sqrt{5}x - x + \sqrt{5} + 1 = 4\sqrt{5}x + 4x$$

$$\sqrt{5}x - x - 4\sqrt{5}x - 4x = -\sqrt{5} - 1$$

$$-3\sqrt{5}x - 5x = -\sqrt{5} - 1$$

$$3\sqrt{5}x + 5x = \sqrt{5} + 1$$

$$x(3\sqrt{5} + 5) = \sqrt{5} + 1$$

$$x = \frac{\sqrt{5} + 1}{3\sqrt{5} + 5} \cdot \frac{3\sqrt{5} - 5}{3\sqrt{5} - 5} = \frac{15 - 5\sqrt{5} + 3\sqrt{5} - 5}{45 - 25} = \frac{(3\sqrt{5})^2 - 5^2}{(3\sqrt{5})^2 - 5^2}$$

$$= \frac{10 - 2\sqrt{5}}{20} = \frac{1}{2} \frac{(5 - \sqrt{5})}{10}$$

$$= \boxed{\frac{5 - \sqrt{5}}{10}}$$

674

$$\frac{1}{x^2 - 2} + \frac{1}{x^2 - 2x\sqrt{2} + 2} = \frac{2}{x^2 + 2x\sqrt{2} + 2}$$

$$\frac{1}{(x-\sqrt{2})(x+\sqrt{2})} + \frac{1}{(x-\sqrt{2})^2} = \frac{2}{(x+\sqrt{2})^2}$$

C.E.

$$x \neq \pm\sqrt{2}$$

$$\frac{\overbrace{(x-\sqrt{2})(x+\sqrt{2})}^{x^2-2} + (x+\sqrt{2})^2}{\cancel{(x-\sqrt{2})^2} \cancel{(x+\sqrt{2})^2}} = \frac{2(x-\sqrt{2})^2}{\cancel{(x-\sqrt{2})^2} \cancel{(x+\sqrt{2})^2}}$$

$$x^2 - 2 + x^2 + 2\sqrt{2}x + 2 = 2(x^2 - 2\sqrt{2}x + 2)$$

$$\cancel{x^2} - 2 + \cancel{x^2} + 2\sqrt{2}x + 2 = 2\cancel{x^2} - 4\sqrt{2}x + 4$$

$$2\sqrt{2}x + 4\sqrt{2}x = 4$$

$$6\sqrt{2}x = 4$$

$$x = \frac{4}{6\sqrt{2}} \cdot \frac{\sqrt{2}}{\sqrt{2}} = \frac{4\sqrt{2}}{\cancel{1\sqrt{2}}_3} = \frac{\sqrt{2}}{3}$$

done
controll CE

676

$$\frac{1}{x^3 - 3x^2\sqrt{2} + 6x - 2\sqrt{2}} = \frac{x}{x^2 - 2x\sqrt{2} + 2} + \frac{1}{\sqrt{2} - x}$$

C.E.

 $x \neq \sqrt{2}$

$$\frac{1}{\cancel{(x-\sqrt{2})^3}} = \frac{x(x-\sqrt{2}) - (x-\sqrt{2})^2}{\cancel{(x-\sqrt{2})^3}}$$

$$1 = x^2 - \sqrt{2}x - (x^2 - 2\sqrt{2}x + 2)$$

$$1 = \cancel{x^2} - \sqrt{2}x - \cancel{x^2} + 2\sqrt{2}x - 2$$

$$\sqrt{2}x - 2\sqrt{2}x = -2 - 1$$

$$\frac{-\sqrt{2}x}{-\sqrt{2}} = \frac{-3}{-\sqrt{2}}$$

$$x = \frac{3}{\sqrt{2}} \cdot \frac{\sqrt{2}}{\sqrt{2}} = \frac{3\sqrt{2}}{2}$$

does controll
C.E.